= SetDirectory[" /ww/user /f dahl /papers/Conjugation/"1];
<< kappaLi b. m
<< Petrov. m

KappaLib v1.1

Petrov routine | oaded

m Class I: (1bar(1) 1bar(1) 1bar(1))

000100
000010
m[4]fB=000001'
100000/
010000
001000
sigmal taul 0 0 0 0
-taul sigmal 0 0 0 0
0 0 sigma2 tau2 0 0 )
)=V = 0 0 -tau2 sigma2 0 0 ‘
0 0 0 0 sigma3 tau3
0 0 0 0 -tau3 signa3

ine:= Ei genval ues [V]

outle]= {sigmal -itaul, sigmal+itaul, sigma2-1itau2,
sigma2 +itau2, sigma3-itau3, sigma3+itau3}

= mathcal(W) contains only one element:

010000
100000
000100]
= W=1l9 01000/
000001
000010

(* Check that Whas signature (+++---)%)
Ei genval ues [W

oupg= {-1, -1, -1, 1, 1, 1}
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m Check that Sis in set mathcal(S)

in[10]:= Transpose[S].B. S =W

outj10]= True



2| Classl.nb

Compute result

n[11= res = S. V.l nverse[S];
res // Matri xForm

Out[12]//MatrixForm=

signal 0 0 -taul 0 0
0 si gna2 0 0 -tau2 0

0 0 si gma3 0 0 -tau3
taul 0 0 sigmal 0 0
0 tau2 0 0 si gma2 0

0 0 tau3 0 0 sigma3

in[13:= Petrov[res]

Out[13]//MatrixForm=

-taul 0 0 0 0 sigmal
0 -tau2 0 0 si gma2 0
0 0 -tau3 sigm3 0 0
0 0 sigma3 tau3 0 0
0 si gma2 0 0 tau2 0
si gmal 0 0 0 0 taul

m Export notebook as .pdf

inj14):= Not ebookPri nt [Sel ect edNot ebook [],
" /www/user /f dahl /paper s/Conj ugati on/not ebooks/Cl assl . pdf "]



